

$$f\left(\frac{r}{4}\right) = \cos \frac{r}{4} \sqrt{3}$$

1

$$f(\sqrt{r}) = \sqrt{r+1} \quad \sqrt{r+2}$$

2

$$g\left(\frac{r}{4}\right) = 2 \cos^2 \frac{r}{4} = \frac{1}{2}$$

$$f\left(\frac{1}{r}\right) = \sqrt{\frac{r-1}{r}} = \frac{\sqrt{r}}{r}$$

$$g(\sqrt{r}) = \frac{\sqrt{r}}{1-\sqrt{r}} \times \frac{1+\sqrt{r}}{1+\sqrt{r}} = \frac{\sqrt{r+1}}{-1} = -(\sqrt{r+1})$$

$$f(-(\sqrt{r+1})) = \left[-(\sqrt{r+1}) \right] = -r$$

3

$$f\left(\frac{r}{4}\right) = \sin \frac{r}{4} = \frac{\sqrt{r}}{r}$$

$$g\left(\frac{\sqrt{r}}{r}\right) = \frac{\sqrt{r}}{r} \sqrt{1-\frac{1}{r}} = \frac{\sqrt{r}}{r} \times \frac{1}{\sqrt{r}} = \frac{1}{r}$$

$$1) f(g(x)) = \{(1,4)(2,4)(3,1)(4,1)\} \quad - 1$$

$$2) g(f(x)) = \{\} = \emptyset$$

$$3) f(f(x)) = \{\} = \emptyset$$

$$4) g(g(x)) = \{(1,1)(2,2)(3,3)\}$$

$$f(g(x)) \rightarrow f(g(1)) = 4 \rightarrow g(4) = 1 \rightarrow a = 1 \quad \Delta$$

$$g(f(x)) \rightarrow g(f(1)) = 1 \rightarrow f(1) = 4 \rightarrow b = 1$$

$$g(x) = \frac{1}{x} \rightarrow \frac{1}{\frac{1}{x}} = x \rightarrow \frac{1}{x} = \frac{1}{x} \rightarrow x = \frac{1}{\frac{1}{x}} = x$$

$$f(x) = \frac{1}{x} \rightarrow \frac{1}{\frac{1}{x}} = x \rightarrow \frac{1}{x} = \frac{1}{x} \rightarrow x = \frac{1}{\frac{1}{x}} = x$$

$$x = ax + b \rightarrow f(f(x)) = a(ax+b) + b = a^2x + ab + b$$

$$x = a \rightarrow a = a \rightarrow ab + b = 1 \rightarrow b = 1 \rightarrow f(x) = \frac{1}{x+1}$$

$$f(f(x)) = \frac{1}{\frac{1}{x+1} + 1} = \frac{1}{\frac{1+x+1}{x+1}} = \frac{x+1}{x+2}$$

$$g(f(x)) = \frac{1}{(x+|x|)^2 - \sqrt{x+|x|}}$$

- 2

$$|x| \begin{cases} x > 0 \\ x = 0 \\ x < 0 \end{cases} \rightarrow \text{عزیمکی قبول} \rightarrow \text{فرقی ہر دو$$

$$x > 0 \rightarrow g(f(x)) = \frac{1}{x^2 - \sqrt{2x}} \rightarrow \neq 0$$

$$x^2 \neq \sqrt{2x} \rightarrow x^4 \neq 2x \rightarrow x^3 \neq 2 \rightarrow x \neq \sqrt[3]{2}$$

$$\rightarrow D_g [1, +\infty) - \{\sqrt[3]{2}\}$$

$$f+g = \sqrt{1-x^2} + \sqrt{x}$$

- 1

$$(f+g)(f(x)) = \sqrt{1-(\sqrt{1-x^2})^2} + \sqrt{\sqrt{1-x^2}} = \sqrt{x^2} + \sqrt[4]{1-x^2}$$

$$= |x| + \sqrt[4]{1-x^2} \rightarrow 1-x^2 \geq 0 \rightarrow x \in [-1, 1]$$

$$\rightarrow D_f [-1, 1]$$

$$\text{ا) } \frac{x+1}{x-2} = f \rightarrow x = \frac{f+1}{f-2} \rightarrow f(f) = f\left(\frac{f+1}{f-2}\right) + 1$$

- 9

$$\rightarrow f(x) = \frac{x^2-1}{x-2}$$

$$\Rightarrow f\left(x + \frac{1}{x}\right) = \left(x + \frac{1}{x}\right) \left(x^2 + \frac{1}{x^2} - 1\right)$$

$$\Rightarrow \left(x + \frac{1}{x}\right) \left(\left(x + \frac{1}{x}\right)^2 - 3\right) = f\left(x + \frac{1}{x}\right)$$

$$\Rightarrow f(x) = x(x^2 - 3) = x^3 - 3x$$

$$f(x) = x\sqrt{x}$$

$$g \circ f(1) = 0 \Rightarrow f(x) = 1 \Rightarrow x = 1$$

$$g \circ f(\sqrt{x}) = 0 \Rightarrow f(x) = \sqrt{x} \Rightarrow x = 1$$

$$\left. \begin{array}{l} x = 1 \\ x = 1 \end{array} \right\} [1, 1]$$